
50 MOUNTING & ACCESSORIES   ❚

FOR  T8 (835,845) AND T9 (940,950,960) MOTORS

AND SAFETY BRAKE

ACCESSORIES FOR PLATE MOUNTING

Wall brackets (x2)
9017173 angle bracket for plate 330 + screws
9017174 angle bracket for plate 400 + screw
9017175 angle bracket for plate 450 + screw

9017176 safety brake bracket 332 Nm + screws
9017177 safety brake bracket 552 Nm + screws

safety brake bracket

plate CM 330x330 T8 / T9 D.89
plate CM 400x400 T8 / T9 D.89
plate CM 450x450 T8 / T9 D.89

Plates for motor sideMotor bracket
9541089 angle bracket 835/45 940/50/60

Shaft for bobbins

Shaft for bobbins

Washers

Washers

9146580 driving shaft 30x450 + key

550121 driving shaft 40x530 + key

1780600Ø133 x 4
2003928Ø133 x 2.5
2003929Ø159 x 4.5
1780601Ø168 x 4.5
2003930Ø193.7 x 5.4

9017167 plate CO 330x330
9017169 plaqte CO 400x400
9017171 plate CO 450x450

Safety brake plates

9017159
9017162
9017164

2007931 safety brake 332 Nm - D.30
Safety brake

Screws (not supplied)
2 screws M10 x 30 DIN 933 Zn 8.8
2 nuts M10 Zn DIN 934
2 washers Ø 10.5 Zn DIN 125

2007932 safety brake 552 Nm - D.40
Safety brake

Screws (not supplied)
2 screws M12 x 40 DIN 933 Zn 8.8
2 nuts M12 Zn DIN 934
2 washers Ø 10.5 Zn DIN 125

TUBE

9013529 set D.124Ø133 x 4
9013530 set D.127Ø133 x 2.5

9013533 set D.149Ø159 x 4.5
9013534 set D.158Ø168 x 4.5
9013535

835-845-940
9015574
9013537

9013538
9013539
9013540

950-960

set D.160Ø168 x 3.5
9013536 9013541 set D.168Ø177 x 4

- 9013542 set D.181Ø193.7 x 5.4

9013532 -
-

set D.133Ø139,7 x 3,2
9013531 set D.131Ø139,7 x 3,6

Adaptor setsTube

Tube References
1781025Ø133 x 4
2003920Ø133 x 2.5
2003921Ø159 x 4.5
9146566Ø168 x 4.5

4200472AØ168 x 3.5

Tube References

SUMMARY




